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-
‘ ms arc present in
@ Mass of a signature through carbon peneil is 1 mg How many carbon atoms
that signature?

..W 6-02x10 *°

(B) 0.502 107"

(C} 502x10%" () 5 02> 10%
31 @ C®ze (o 0efd ymiad o0 | mp reeliie aes e sy HCR?
(C) 5-02%10% D) 5.02% 107

@ q4-24 my of an organic acid containing C, H and O atoms on {‘{'}mplf‘.ft crommbustion In air
produces 845 mg CO, and 346 mg 11,0, 100 mi of this acid solution is neutratized by
200 mi 025 (M] NaOH solution. If vapour density of this compound 1s 44, then molecular

formuia will be
Al Csli 0 (B) C,l1,0, |
J€) C,lig0, By C,0,H,
I =l Ted wrfe €, 11, O <7 W e & Ang 4.94 mg W{ AR HHA S M
845 mg CO, U<t 396 mg H,O SEE T L G% WPTET 100 mi was, 200 ml 0-25{M) NaOH
#4< w'q) Helle 5% | (NeDE vy Wi 44 ¥w, (g wolgs e (¢ 2242

(Al ’:-75”:.39 (13) C‘_;H_,O;;
Toad' '\ I_‘r‘. f
1) CaligQ, D) €,0;H, 1

3. fencrgy of an clectron in first arbit is =136 ¢V, then the energy required to transfer it in the 1
fourth orbit will be |

(A} 31275 ¢V B 085eV
(C) 14-45c¢cV (D) 54:40 eV

£ B Aoq o09q %' ~13:6 eV 204, 2P dvodl 409 ¥INEET 9o e =lad wE
%<7

(A) 12:75 ¢V
(C) 1445 ¢V

(B) 0-85 eV
(D) 54:40 eV

4. Among the following which set of quantum numbers 18 applicable to 4d electrons?
M 4,324, "B) 4,2,1,0
(C) 4.2,-2, .} (D) 4,23, -}

81 AdA COWIDM MY HHbafeq Sy (o1ild 4d WABrad (DL 40 84 9
A) 4,3, 2 1 M) 4,2, 1,0

C) 4.2, -2, 1 D) 4,23, -1

o
gcollegedunlas
India’s largest Student Review Platform

S—



| JAF C>B>le L bation potential?

(B) C>RBes>p
(C) BSNC > e > 1 > Li

(M) Be > L » FEY o
| ¢ AW ST [Req piig 3l &% (oafl o

Al C>RB>Be >y

B) C>Be > B> L
(C} B>C>Be >l

D) BeslLis>Rs C

:"6..\/\ bond hawving length 1:275 A and dipole

character of the bond. e

3D. Calculate the percent iomic

(A) 6:12%
(B) 1-:03%

() 16:83%

103D, & 3FTHa Todar 3574 TSy sy Lok 8z |

(C) 1-68%

7. How many maxmum numbers of H-bond can be formed by H,O molecules?

P 2 B) 2 (€) 4 (D) 1

U H,0 %% %éhiwm @afb ji-anal! s sene 972 o

(A) 2 (13) 3 C) 4 D) 1

8. | mole of an idcal gas is expanded from 1 lit to 10 Lt in an

isothermal reversible process
300 K. The change of enthalpy will be d -

A) 57 ik (B) 57 kJ
(C) OkJ D) 48 kJ

Ui 300K Tawewy, | Cale il oipe Yare v9ed afadn 1 fdbie (ece 10 fbna RS IIH

Gel2wivig #lqale 474

(A) 57 kJ (3) -57kJ
(C) OkJ (D) 48 kJ
J—Scrics P 3 [ P.T.O.
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@ A mixture of 2 gm 1, and 8 gm O, at 27 *C temperature is kept in a 20 )it vessel. What wilt

[ be the total pressure mmide the vessel?
(A) 1:53 aim M 513 atm
(C) 351 atm My 153 atm

oI 2m ofBcaw WT B gm Aik(wiaa o Nuy 27 *C MBI 20 It TESAT NCH TR wiOK |
wmafDe wome VT bTe @9 7

(A) 153 atm (3) 513 atm
(C) 351 atm (M) 153 atm

'}4. Which of the following oxides is antiferromagnetic?
JA] MnQO, (B) TO,
([C) VO, D) Cro,
381 Tove (o w2 anfdrecansabe ?
(A] MnO, B) TiO,
() VO, (D) CrO,

solid forms bee lattice. If necarest distance between twe atoms 18 173 pm, then what will be
edge length of the cell?

(A) S22 pm (13) 150 pm
(C}) 371 pm (D) 200 pm

se1 wal) ol »ne bee FTH T e o021 XB 4D 4RI xik BT weq 173 pm R, B4 comioe
nglvd] @c 204"
(A) 522 pm (3) 150 pm
(C) 371 pm (D) 200 pm

16. 2-5 mole hydrazine upon losing 25 moie clectrons produces a new compound X. 17 all the
- " v # . : > . ' | - o | | |
nitrogens are transformed nto new compound (X), then oxidation number of nitrogen in the

new compound (X will be

(A) -1 (B] -2 (C) +3 ) +4

Su1 2:5 GIF BByfen, 25 ciiel ool efsey gefd Ay (D9 X Tavia 9lg | O AMaTRrEE Agw (RS
(X) idefEe =, wTe 4 @7 (X) AEGace eige MR ¥ 2097

(A) -1 (13) -2 (C) +3 (D) +4
’9:3'?“”' o o
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63; A moxture of 2 gm I, and 8 gm O, at 27 °C temperature is kept in s 20 it veasel. What will
Le the tolal pressure mmsicde the vossel?

(A) 153 atm 1) 513 atm
(C) 351 alm M) 153 atm
yo! 2 gm YBCEVE @¥ B gm WRRA 02 Nlm 27 °C WA 20 Wt WYSAT K A wWICW |
oneDe Wem QI B1Y @8 7
(A} 1'53 atm (B} 513 atm

153 atm

-

(C} 351 atm {1
14. Which of the following oxides is antifcrromagnetic?

JA] MnO; (B) TiO,

V81 e (o wReD anibrecainzaie v

(Al MnO, (B) T:0,

(C, VG, (D) CrO,

\ . ii
solid forms bee lattice. Il ncarest distance between two atoms is 173 pm, then what will be 1
edge length of the ccll? ,

(A) 522 pm (13) 150 pm

(C) 371 pm () 200 pm

ol w% bec #TH% o9 e o2 1 xF 4D HR Wy ITET e 173 pm B, A comifa

31 £4%
Nlnd] @< 204”7

(A) 522 pm B) 150 pm

(C) 371 pm (D) 200 pm

clectrons produces a new compound X, If all the

16. 25 mole hydrazinc upon losing 25 mole * nd
then oxidation number of nitrogen in the

nitrogens are transformed into new compound (X),
new compound (X) will be

(A) -] (B} -2 (C) +3
o1 2.5 (W BBy, 25 N Uorde wfacn geff g (N X TR yfit o1y ARG TR A
(X) #fAefe =, wza @ (A (X) SR@CeCae i AR ¥ (17
(3) -2 (C) +3 (D) +4

Pp) +4

(A) -1

C—Secrics P S
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KMn tion
; llowing below rcac
: th oxalic acid (H3C204) 0
17- If 04 reacts wi a_ | 2Mn2-t " 10002 + BleO
2Mn0, + 5CL0; 1 16H° -

- : | (M) KMn0, will react with
then 20 mt 0-1 (M) 2! . - 10404

M) 11,CL0
M 20ml 05 (M} 1000 (D) 20 mi 0°1 (M) HyC 204

(C) 30 ml 05 (M) 11,C,0,
[6q (11,C 50, ) 2% bR HENw4e wepuf®) fafapn 307

541 KMnO,, “alei4 &)
» 81,0

’ PR - : :
2M0, + 5C,07 1+ 1617 —2Mn 10CO,

&2z, 20 ml 01 (M) KMnO, & s34«
(A) 20 mi1 05 (M) 11,C,0, < A
(C) S0m! 05 (M) I11,C,0,-44 H(H

- " ﬂ:’ﬂ
(B) 50ml 01 (M) i1,C,04 94 ¢

. N
(D) 20 m) O-1 (M) 11,0047 A7,

is mixed with 10°4 mg of a substance and

8./ 0'5 gm camphor (mclting point 178 °Cj | .
resulting mixture mclts at 169-7 °C. What will be the molecular weight of the substance
(A) 100 (B) 20
(C) 50 (D) 20

Sb1 05 gm @< (Seiells 178 °C) X% 104 mg F A9 T» A7 fumefd 1697 °C TIONIAR
g Weiqe =4 39

(A) 100 (B) 20

() 90

¢ 19, 15 amp clectricity is passed for 30 minutes to an aqucous salt solution and re
0-8898 gm ctal at the cathode. If valency of the metal i1s 2, then what will be its a

weight? https://www.tripuraboard.com
(A) 3163
(C) 3190

yo 1 30 fafaB #cq 1-5 wrfRonrg wlb’ (ol #4799 SN B UATRE Wo SIS 0-8898 gm AT
2 | Gefbs ueel 2 20t “lauafie og ve?
(A) 3163 (3) 6506
(C) 3190 (D) 63:59

{B] 6506
(D) 63-59

~ 20. Which of the following ions is the most effective to coagulate Fe(OH), sol?
A) CI (B) Br-
®r so; (D) NO,

R01 FelOH)3 eite witrs 414 61 Neve @1+ Smafb (4 Toicn®) 2
(A) C B Br- i
n . (D) NO;
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‘ ‘ l be necessary?
21. 7o converl 001 moie ’bS into PbS0O,4, how much ‘10 volume’ Hy05 wi ry

A} 112 mi g3) 224 m)
| i Q- (D) 498 mi
(C) 336 ml a 1
. 1 ’ -8
|| 33| 001 ¥ PbS (¥ PbSO, -9 AMAS ¢4ATS f3 =R ‘10 WEE" H0, ATITHA
(B) 221 ml
| (A} 11-2 ml
| (N) 44-8 ml
| (C) 336 ml

] S { ) I ) L ' . Cau&ﬁc Bndﬁ?

(A) NO (B) N,O
2
Dy NH
w-] NH 91302 ( ) 3
3| (4R ATRGRITeE oBa cEq Riduw fF s SR 22 2
(A) NO, B} N,O
(D} NHj4

(C} Na,130,

23. Decreasing stability order of Group-14 hydrides of the elements 18

jpy CH, >SiH, > Gelg > SnH, > Pbll,
(B) PbH, > SnH, > Gelly > SiH, > CH,
(C) CH, >SnH,4 >GceH, > PbH,4 > SiH,
(D) Gely > Sill, >SnHy >CH, > PbH,
201 $9- 14 CNeoAR 2T eh TP LTe &= 3
(A) CH, >SiH, > Gell, >SnH, > PbH,
B) PbH, >Sni, >GeHy > Sili, > CH,
(C) CH, >Snll, >GeH, > PbH, > Sili,
(D) GeH, > Sili, >Snl, >CH, > PbH,

3‘. NH, on reaction with Cl, produces

/) N, and HCI (B) NCl; and HC}
(C) N, and NH,CI (D) NH,Cl, NCl,, N, and HCI

81 NH, €4 4% Cl, -« Rigam Ieeid 2

(A} N, €4t HCI (B) NCl, @3 HCI
(C) N, €@ NH,Cl (D) NH,Cl, NCl,, Ny @ HCl
>—Scrics P 7
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28. The product arising on reaction of 50, with HC1 is
(A) 80,Cl, (B) SOCI,
(1 SO,10NnC! (D) 8,C1,

ae! SO, & MW HCL- €% Ay Seom (Ml 374
(A} SO,CI, (M 80C),

(C) SO, () 8,C1,

Which pair among the following pairs has same magnetic moment value?

(A) [Crfi,0,12', 1CoCl )" (B) (Crl,00)2", [Felii,Ag)?’

() [MnH,004]%", [CrMH,006)?" OF 1CoCly)? | (Fel,0,)*"
W1 Rifefve (wsefie W @ (s Mye e 7w «3R v ™

A} {CrH,0045)%*, [CoCly)?" (B) [CriH,0612", [Fefl,O05]2"

() [Mn(H,006)2", [Crii,0)2° (D) [CoCl4]2", [Fe,0)2"

2‘ﬂ In the compound | M fen) - {C,04)Cl}, the summation of oxidation number and ecoordination
number of the metal M 1s

(A} 9 B 6 i) 7 D) 8
i)/' [ Men),{C,0,)CL) 778 M 2 g4 w149 eyl 8 (B ufimed sryna coeme 5w

(A) 9 (3) 6 (C) 7 D) 8

5;) In acetic acid medium Zn0 assumes Light blue colour in presence of X The compound Xis
(A) KqlFe{CN), | (B) Ky[Fe(CN) ]

b1 X-&8 3ehers CH,COOH FM74 ZnO ovel Twied s a0a 1 X (oS 2w

IA) K4[Fe(CN), | (B} K;[Fe(CN)g|
(C) Naj|Fe(CN)s NO) (D) [Fe(COq)
C—Serics P 8
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29. In alkaline medium 17 is oxidized by MnO? and produces

O
(A) 10,

(c) 10°

1

{)
() 10,

2> WA NG MnOP Wi 19-on wmzem v Seom =

O
(A) 105

() 109

(B) 1,

(D) 10

/ Atomic numbers of the lanthanoid clements K, L and M are 65, 68 and 70 respectively. The
basicity order of the hvdroxides of those clements will be

(A) K>L>M
(Z) M>L>K

ool K. L &€ M ENEaRs (X Bfeie squly &4 WITFT 65, 68 32 70 | (N gfore sgal¥ere wRewen

&4 24
(A) K>LL>M
(C) M>L>K

3r. Idenufy the correct
hex-3-en-5-ynoic acid :

OH
Z " COCH
NN

(A)

OH

/L “COOI
C) {k
RN

structure

of

PD] K>M>L1
D) L>K>M

B) K>M=>L
D) L>K>M

the compound 3-cthyl-2-hydroxy-4-meth

OH
A COOQOH
i) |
N
OH
D) /choou
N2

91 3-3M%a-2- 255 4 Rufberrzs 3 %5 SRCTRle wnbiv <pype @ade >ile ma RIS N

OH
S
~ COOH
(A)
o
OH
COOH
[C)
N

Ol
COOH
B)
-.\‘\
OH
™~ COOH
(D)
RN
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32 Mcntion the s abili ly order of the lOﬂﬂWlﬂg carbcmau'mm .
Ch z"""b—-C“; C":; CH- —-C”z Ph- C“:e —C 2 .

Ph
(l;:l (1) (111)
A) () > (1) > (1) By (1) > ury > )
‘ ] D (1) > (JI) > (1T}
(C) (#) > (4tf) > (1) ‘!’))' (1) > |

ox | fuffRs ﬂCQ'FFWGfﬂd vilTed %m $A :

C“?_C'- CHZ' C"3 -'Cll—"“CHZ

ll’h Ph

! () (1)
Ay (IT) > (1) > (!I‘] ) @) () >l > (7)
(C) (1) > (1) > (1) (D) () > (1) > (1)

e
ph—CHqy— -CH;—CHj

33. Identify the cvolved product by the reaction of aluminium carbide (Al;C5) with water at

normal tempceraturc

(A) HC =C]] (B) CH, =CH, (&1 CH, (D) CH,; —CHj,
001 MEe Tarey M #147% L (AlL,C ) T Blaq IerT B si'dfl3% e B9 .
(A) HC=CH (B) CH, =CIl, (C) CH, (D) CH5y —CHj

34. ldentify the final product of the following reactions :
Me

1) 04/CH,Cl,
2} an H20
Me 3) OH /EtOH/A

Mc 0O
e~
A) 43~ E> (C) (D)
Mc
CHO Me

Me
¢8 1 fFrfefee fdfgmiglaz w7e Teem wig A »mirs =2 -
Me
r\"‘> 1) 03/CH,Cl,
S —> 7
2) Zn/H,0
Me  3) OH /EtOli/A
Me Me
(A) (B
Me
- Me Me
_ JC—8erics P 10
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Missing page no. 11
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3%, Write the major product of the following reaction :

?Na
~ OCH; 1) W ' /benzene -

p 2) H'/H,0

N H
A__-OCH O
w (O] - @?)\/r

OH e
x '\«*HJOCH:; e
C » 4
* QO N )
ov RafRe Risue yu ‘Mt o -
ONa'
OCH3 1) #\/B'/@f‘

- — P
2) H'/H,0
/\;f"’

OH
N C&/ocu 3 " \@Yc)cua

OH OH_-
W\/OCH’i i OCH
£\ " ’
o O N ©)f
i
- Ethanal 1) AYOC,Hg), @ _IC_%}[ sONa "
2) HyO 2) H /HQO

In this reaction, £ and I will be
(A) CH3COOH CH. COOCJHF

vtB) CH3COOC,H;, CH,COCH,CO0C
{(€) CH,COO0C,H,, CHaCO(‘HS

(D) CH3CH,0H CH,CO0C,H,

2Hs

Ob | T —2-’ AOCHs)y —> F D Czﬂﬁﬁ_ > R
) H0 2) H'/H,0
% fofsmy £ 4 F @ 4f6 373

A} CH3COOH, iy ;COOC,H,

(B) CH3CO0C,H,, ch. cocu ,COOC,H,
(C) CHjCo0C,H,, cu. 4COCH,,

(D) CH3CH,OH cH. 3CO0C, H,

C—Series P
12
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f Appropriate reagent for the following transformation

.
N C—CHy A~ ACHCH,
- i J/ )
HO ™ HO
S
(A) Zn-Hg, conc. HCI (B) NH,-NH,, OH
(C) Hy /N (D) NaBH,

ey s o

L—CHg CH,CH,
=
H H

&3 &1 ToRe Reael
(A) Zn-Fig, TG HC) (B) NH,-NH,, Ot
(C) M., /Ni (D} NaBH,
O
. " NaOH (COHC*}
Ph-—C—CHO “—-—\ > G
Compound G will be
(A} PhCOONa (B) PhCH,OH
g;l) PhCHOH) COONa (D) PhC112COONa
1 NaOI (415
go| a J X
Ph—C—CIlIO — *E"— —>» G
G A6 274
(A) PhCOONa (B) PhCH,OH
(C) PhCH(OH)COONa (D) PhCH,COONa
NemReriea P 13
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41. Identify the final product of the following reaction :

CHy

. A
8

NHOH H
H . CHy
ir,CH:; , 2‘ T""'
e K(F,),‘ _ g T,)

NH, OH
. ()
HyC,. O HLC
| /,/" .~
O NH,

8> s Risim SiEy @99 = 37 ;
CH,

/\ oY 11C}
Q] ———=7
Kr"J 3

0

NHOH
z “
CH, \__CHj
A @ (B @
NH, Ot
H.C_ O H-C. O
N o P
1,,..f”'/'\.;' »
1C) (| | ([} I:\\i
OH NI,
42. Benzamide on rcaction with POCl, produces
(A) benzon:trile (B) aniline
J) chlorobenzene (D) benzyl amine
R (4BIRETEA A% POCI 4 - 97 [z Ten %
(A) CHGIRG%e (B) wnfafem

(C) @aTfem (D) (&l wnfia
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43. A mixture of cthane nitrile and ethanol is hydrolyzed in presence of cone. H,80,. Achicvable

produrt is
dA cthyl cthanoate (13) 2 butanone
(C) butaraldchvde (1M methyl propanoate
g1 & H,S0, -7 Tefefdrs Tws A% o Buyrrwa fimers siffazgfie agm g M ow
(A) ‘Bller BemATIND () 2 e
() TEhanwfsete (DY Fdwiflm oo’

44. Obscnve the foliowing chemical reactions
1) SnCl,/HCI N HCHL,CO),0/A

“Wo {"N > J —— » |/
. 2) H,0 CH L, COONA
2) 1Y /1,0
i d i
Predict the structure of the compoun /(I)(:(')CH3
A) Ph—CH=CH—CHO B) Ph-CH_
0OCOCH,
I
(C) Ph—CH=CH—(—CHj, (Df  Ph—CH=CH—COOH
881 Pgfeie RidnT wmrea @4 .
Ph—CN —— > H —— ey
2} H,0 CH,COONa

2) H' JH,0
I Defhe erq TiEY 59 o
JOCOCH],

| | _—
(A}  Ph—CH=CH - CHO B)  pPhCH
*0COCH,

O
(C) Ph—CH=CH— C—CHj (D} Ph-- CH=CH—COQOH

45. Which alkene is most reactive in cationic polymerizaticn?

(A) CH, =CH —CH, (B) CH, =CF,
(C) CH, =CHCN (D) CH,=CH—Ph

8¢ Rl AfAqarrars @R el ¥Aarem deu
(A) CH, =CH—CHy (B) CH, =CF,
(C) Cil, =CHCN (D) CH, =CH—Ph

46. How ribose and 2-deoxy-nibose can be difterentated?
(A) By Fehling's reagent (13) By Tollens’ reagent
(C) By Barfocd's rcagent (D) Through Osazone formation

8u | PzaTe et 2 fafe-aticaece Ade) a1 U ldai
(A) ¥ Read A (13) Deeter [darae w4
(C) 41T fAees w4l (D) &IZe Ay 91

JC—Scnces P 15 | P.T.0.
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47. Which one of the following is the cxample of globular protein?

(A) Mvosin (R) Collagen

(C) Keratin (D) Haecmoglobin
gq | Trer coafB anidTeny cenfbz=a Twean ?

(A) TS (B) cwrerzan

(C; coia (D) 13eurenfae

, . . hesis of
48. According to molecular genetics, biological information is passed through the synt

which one of the foliowing?

{A) DNA — RNA — Carbohvdrate (B) Amino acid — Protein — DNA
(C) DNA — Carbohydrate » Protein JP) DNA -» RNA — Protein
sy WRs s Wl Eercare R -z RS cow: sroarer wuick 23 ?
(A) DNA — RNA — F7E3450 (B) wTuidcat enBie — 2= - DNA
(C) DNA —» F7I%%LT — onfdR (D) NDNA — RNA — 4o

|
@ To 1 ml of an aqueous solution of NiCl, is added excess NaOH solution. Grecn coloured
precipitatc is observed. To this bromine-water is added and boiled cautiously. A black

precipitate appeared. Chemical compounds of grecn and black precipitates are
(A) Ni{C;OH Ni(CH), (B Ni{OH),, Ni{OH)
(C) Ni1{OH),, NiBr; y)} Ni (C1){OH), Ni{Br),OH
851 1 mlNiCl,-92 B8R u4(% Sfefie oFTY NaOH F39 05t T 34 | FqE QA QUITH AT S T
€Co GIW-B9 @09 T4 TTECH HH @OTT 2 | QUH] Seerued TET 3 NEAE 8 FA WA
QeI AP (Dl o )
(A} Ni{Cl;OH, NijOH), (B} Ni(OH),, Ni(OH),
(C) Ni(OH},, NiBr, (D] Ni(ChHOH), N1(Br), 0O

°0. Cenc ammonium nitrate on reaction with primary alcohol produces a re
compound. The structure of the evolved compound is

(A} (NH4)ROHCe (NO,), (B) (NH4),(ROH),Ce (NO
) ROH),Ce NO.,), (D) (NH4),Ce (ROH),
¢o! Gilde SEPI %55 srw #vad) wiweEes [Afeum a9 4
AT 1 Ho 2ef
(A} (NH4)(ROH)Ce (NO,),
(€} ROH,Ce(NO,),

d coloured complex

31

44 931 & N 20X = | Beom

(B) (NH, )5 [ROH]ZCe (NO
(D) (NH4),Ce (ROH,

3)9

Series P 16
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